rgb* and CIE data of a elementary (e) hue circle
according to CIE R1-47:2009 forsRGBdisplay L, =1,2%

3 colours of the elementary hueRYGBy: hgp 5 e= 25, 92, 162, 271

Code

ROOY, = Re

*
Lae

52.0

0,5R, + 0,5N; 31.5
0,5R. + 0,5W, 73.7

Y00G = Ye

83.7

0,5Y% +0,5N, 47.3
0,5Y, + 0,5, 89.5

GOOB,=G, 85.3
0,5G, + 0,5N; 48.1
0,5G. + 0,5\, 90.3

BOOR, = B,

60.1

0,58, + 0,5N; 35.5
0,58, + 0,5W, 77.7

*
Aae

75.2
37.6
37.6

-3.2
-1.6
-1.6

-62.8
-31.4
-31.4

16
0.8
0.8

*
b*ae

35.9
17.9
17.9

80.7
40.3
403

20.1
10.0
10.0

-54.8
-27.4
-27.4

C*abae habe r9b%e

83.4
417
417

80.7
40.3
40.3

66.0
33.0
33.0

54.8
27.4
27.4

25.4 1.00 0.00 0.0
254 0.50 0.00 0.0f
254 1.00 0.50 0.5

92.3 1.00 1.00 0.0
92.3 0.50 0.50 0.0f
92.3 1.00 1.00 0.5

162.2 0.001.000.0
162.2  0.000.500.0
162.2 0.501.000.5

271.7 0.000.00 1.0
271.7 0.000.000.5
271.7 0.500.50 1.0y

5 step equidistant grey scalet*¢ = 10.9, 32.0, 53.2, 74.3, 95.4

C*abae habe r9b%e

Code Lae
NOOOW; = N 10.9
NO25W\, 32.1
NO50W, 53.1
NO75W\ 74.2

N100W, = W, 95.4

*
b ae

0.0 0.000.00 0.0
325.6 0.250.250.2!
325.5 0.50 0.50 0.5
323.5 0.750.750.7!
0.0 1.00 1.00 1.0

0
D
D

0
D
D
0
0
0

0
0

SE301-4N, LAB*[a2, adapted=not adapted



